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P - II (1+1+1) G / 20 (N)

2020

PHILOSOPHY (General)
Paper Code : II - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 50 Time : One Hour

Choose the correct answer.

Each question carries 1 mark.

1. Valid means of knowledge means —

(A) Pramana

(B) Prama

(C) Belief

(D) Opinion

1Ð ëíyíÅ Kþy˜œyöì¦þîû vþzþ™yëûöì„þ îœy £ëû éôôôé

(A) ²Ì›y’

(B) ²Ì›y

(C) !îÙ»y¢

(D) ›“þy›“þ

2. In how many kinds are the pramas divided in the Nyaya Philosophy?

(A) 4

(B) 2

(C) 3

(D) 6

2Ð ˜Äyëû ”ŸÅöì̃  „þëû ²Ì„þyîû ²Ì›y ßþº#„þyîû „þîûy £öìëûöìŠé éôôôé

(A) 4

(B) 2

(C) 3

(D) 6
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3. Which among the following is regarded as Prama  according to Nyaya ?

(A) Samsaya

(B) Bhrama

(C) Pratyaksa

(D) Tarka

3Ð ˜Äyëû›öì“þ ö„þy˜ Kþy˜öì„þ ²Ì›yîû xhsþ¦%Åþ_« „þîûy ëyëûÚ

(A) ¢‚Ÿëû

(B) ¼›

(C) ²Ì“þÄÇþ

(D) “þ„Åþ

4. How many propositions does the Nyaya Syllogism have?

(A) 2

(B) 5

(C) 3

(D) 4

4Ð ˜Äyëû”ŸÅöì̃  ~„þ!Ýþ ëíyíÅ ˜Äyöìëû „þëû!Ýþ xîëûî îy îy„þÄ íyöì„þÚ

(A) 2

(B) 5

(C) 3

(D) 4
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5. How many types of extra-ordinary perceptions are there —

(A) Two

(B) Three

(C) Four

(D) Five

5Ð xöìœï!„þ„þ ²Ì“þÄÇþ „þëû ²Ì„þyîû éôôôé

(A) ”%£z

(B) !“þ˜

(C) ‰þyîû

(D) þ™¤y‰þ

6. Samanya means —

(A) Eternal

(B) One

(C) Both (A) and (B)

(D) External

6Ð ¢y›y˜Ä £öìœy éôôôé

(A) ŸyÙ»“þ

(B) ~„þ

(C) (A) ç (B) vþz¦þöìëû£z

(D) îy£Ä
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7. Who is the founder of Vaisesika school —

(A) Gangesa

(B) Kanad

(C) Goutama

(D) Nagarjuna

7Ð ÷îöìŸ!¡ì„þ ”ŸÅöì̃ îû ²Ì!“þÛþy“þy ö„þÚ

(A) †öìDŸ

(B) „þ’y”

(C) ö†ï“þ›

(D) ˜y†y‹Å%˜

8. Who reduced upamana to inference —

(A) Samkhya

(B) Vaisesika

(C) Both (A) and (B)

(D) Advaita Vedanta

8Ð ö„þy ä̃ ¢Á±”yëû vþzþ™›y˜öì„þ x %̃›yöì̃ îû xhsþ¦%Åþ_« „þöìîûöìŠéÚ

(A) ¢y‚…Ä

(B) ÷îöìŸ!¡ì„þ

(C) (A) ~î‚ (B) ”%‹öì̃ £z

(D) x÷ìm“þ öî”yhsþ
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9. How many padarthas are accepted by Vaisesika?

(A) 2

(B) 6

(C) 4

(D) 7

9Ð ÷îöìŸ!¡ì„þ ›öì“þ „þ“þ ²Ì„þyîû þ™”yíÅ ßþº#„,þ“þ éôôôé

(A) 2

(B) 6

(C) 4

(D) 7

10. How many qualities are mentioned by Kanada?

(A) 7

(B) 16

(C) 17

(D) 24

10Ð ›£!¡ìÅ „þ’y” „þëû ²Ì„þyîû =’ ßþº#„þyîû „þöìîûöìŠé˜ éôôôé

(A) 7

(B) 16

(C) 17

(D) 24



Page : 8 of 33

11. Samavaya Relation means —

(A) Inseparable eternal relation

(B) Separable external relation

(C) Causal relation

(D) Identical relation

11Ð ¢›îyëû ¢Á™„Åþ £œ éôôôé

(A) x!îöìFŠé”Ä ŸyÙ»“þ ¢Á™„Åþ

(B) !îöìFŠé”öìëy†Ä îy!£Ä„þ ¢Á™„Åþ

(C) „þyëÅ„þyîû’ ¢Á™„Åþ

(D) “þy”ydÄ ¢Á™„Åþ

12. Which school believes in Satkaryavada?

(A) Nyaya School

(B) Samkhya School

(C) Buddhist School

(D) Vaisesika School

12Ð ö„þy˜ ¦þyîû“þ#ëû ”ŸÅ̃  ¢Á±”yëû ¢ê„þyëÅîyöì” !îÙ»y¢ „þöìîû éôôôé

(A) ˜Äyëû ”ŸÅ̃

(B) ¢y‚…Ä ”ŸÅ̃

(C) öîïkþ ”ŸÅ̃

(D) ÷îöìŸ!¡ì„þ ”ŸÅ̃
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13. The theory of illusion accepted by Nyaya is known as —

(A) Khyativada

(B) Akhyativada

(C) Anyathakhyativada

(D) Anirvacaniyakhyativada

13Ð ¼› ¢Á™öì„Åþ ˜Äyëû”ŸÅöì̃  ö„þy˜ ›“þîy” ßþº#„,þ“þ éôôôé

(A) …Äy!“þîy”

(B) x…Äy!“þîy”

(C) x˜Äíy…Äy!“þîy”

(D) x!˜Åî‰þ˜#ëû…Äy!“þîy”

14. Samkhya’s Satkaryavada is also known as —

(A) Prakriti-parinamavada

(B) Brahma-parinamavada

(C) Vivartavada

(D) Arambhavada

14Ð ¢y‚…Ä ¢ê„þyëÅîy” ö„þy ä̃ ˜yöì› þ™!îû!‰þ“þ éôôôé

(A) ²Ì„,þ!“þéôéþ™!îû’y›îy”

(B) îÊáþéôéþ™!îû’y›îy”

(C) !îî“Åþîy”

(D) xyîû½þîy”
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15. Purusa is regarded as —

(A) Consciousness

(B) Pure consciousness

(C) God

(D) Body

15Ð þ™%îû&¡ì £œ éôôôé

(A) ö‰þ“þ˜y

(B) !îÖkþ ö‰þ“þ˜y

(C) {Ù»îû

(D) ö”£

16. The contact between eyes and a rose is called —

(A) Samyukta Samavaya Sannikarsa

(B) Anumana

(C) Upamana

(D) None of these

16Ð ö‰þyöì…îû ¢öìD ö†yœyþ™ š%þöìœîû ¢‚öìëy†öì„þ îœy £ëû éôôôé

(A) ¢‚ë%_« ¢›îyëû ¢!§¬„þ¡ìÅ

(B) x %̃›y˜

(C) vþzþ™›y˜

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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17. Satva, Raja and Tama are attributed to —

(A) Purusa

(B) Prakriti

(C) Brahma

(D) God

17Ð ¢c– îû‹ƒ ç “þ›ƒ !„þöì¢îû ²Ì!“þ xyöìîûy!þ™“þ £ëû éôôôé

(A) þ™%îû&¡ì

(B) ²Ì„,þ!“þ

(C) îÊáþ

(D) {Ù»îû

18. Vyapti  can be properly defined as —

(A) Invariable concomitance

(B) Causal Relation

(C) Sequence

(D) Occasional relation

18Ð îÄy!®îû ëíyëí ¢‚Kþy £œ éôôôé

(A) x!˜îyëÅ ¢£†y!›“þy

(B) „þyëÅ„þyîû’ ¢Á™„Åþ

(C) þ™îûÁ™îûy

(D) xy„þ!ßþ¿„þ ¢Á™„Åþ
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19. According to Nyaya “Ice looks cold” is an example of —

(A) Samanyalaksana pratyaksha

(B) Yogaja Pratyaksha

(C) Paramarsa

(D) None of the above

19Ð òîîûšþ ö”…öì“þ àþy[þyóéôôôé˜Äyëû”ŸÅ̃  x %̃¢yöìîû ~£z îy„þÄ!Ýþ !„þöì¢îû vþz”y£îû’ éôôôé

(A) ¢y›y˜Ä œÇþ’ ²Ì“þÄÇþ

(B) öëy†‹ ²Ì“þÄÇþ

(C) þ™îûy›ŸÅ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

20. According to Nyaya, nirvikalpa pratyaksha presents —

(A) bare objects without any characterization

(B) objects with its characteristics

(C) only characteristics, not objects

(D) analysis of the attributes of objects

20Ð ˜Äyëû›öì“þ !˜!îÅ„þÒ„þ ²Ì“þÄÇþ îœöì“þ öîyGþyëû ôôôé

(A) !˜!îÅöìŸ¡ì îlßþ

(B) !îöìŸ!¡ì“þ îlßþ

(C) ö„þîœ›ye !îöìŸ¡ì’– îlßþ ˜ëû

(D) îlßþîû =öì’îû !îöìÙÕ¡ì’
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21. What must be the case for an argument to succeed with a rational person?

(A) The premises must be acceptable

(B) The conclusion must be acceptable

(C) The premises must logically support conclusion

(D) (A) and (C) both

21Ð !˜Á¬!œ!…“þ öÇþe=!œîû ›öì•Ä ö„þy˜!Ýþ ë%!_«îû ÷î•“þyîû ‹˜Ä xîŸÄ þ™yœ˜#ëû éôôôé

(A) xy×ëûîy„þÄ xîŸÄ£z @ùÌ£’öìëy†Ä £öìî

(B) !¢kþyhsþ xîŸÄ£z @ùÌ£’öìëy†Ä £öìî

(C) xy×ëûîy„þÄ=!œ öíöì„þ !¢kþyhsþ ë%!_«¢D“þ¦þyöìî !˜ƒ¢,“þ £öìî

(D) (A) ~î‚ (C) vþz¦þöìëû£z

22. Each part of a truth functional proposition is called —

(A) Condition

(B) Component

(C) Conclusion

(D) Content

22Ð ¢“þÄyöìþ™Çþ î‰þöì̃ îû ²Ì!“þ!Ýþ x‚Ÿöì„þ îöìœ éôôôé

(A) Ÿ“Åþ

(B) vþzþ™y”y˜

(C) !¢kþyhsþ

(D) ›)œ !î¡ìëû
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23. In which of the following proposition both the subject and predicate terms are
distributed —

(A) Some glitters are not gold

(B) No glitters are gold

(C) Some glitters are gold

(D) All the glitters are gold

23Ð !˜öìÁ¬y_« ö„þy˜ î‰þ˜!Ýþ vþzöìjŸÄ ç !îöì•ëû vþz¦þëû þ™”îÄyþ™Ä éôôôé

(A) ö„þyöì̃ y ö„þyöì̃ y ‰þ„þ‰þöì„þ îlßþ ˜ëû ö¢y˜y

(B) ö„þyöì̃ y ‰þ„þ‰þöì„þ îlßþ ˜ëû ö¢y˜y

(C) ö„þyöì̃ y ö„þyöì̃ y ‰þ„þ‰þöì„þ îlßþ £ëû ö¢y˜y

(D) ¢„þœ ‰þ„þ‰þöì„þ îlßþ £ëû ö¢y˜y

24. Which of the following can be symbolised by ~ (P.T)?

(A) Preeti and Tapas will not be the student

(B) Preeti and Tapas will not both be the student

(C) It is not the case that either Preeti and Tapas will be the student

(D) Neither Preeti nor Tapas will be the student

24Ð ~ (P.T) ~!Ýþ !˜Á¬!œ!…“þ ö„þy˜ îyöì„þÄîû ²Ì!“þ„þy!ëû“þ îû*þ™ éôôôé

(A) ²Ì#!“þ ç “þyþ™¢ Šéye £öìî ˜y

(B) ²Ì#!“þ ç “þyþ™¢ vþz¦þöìëû£z Šéye £öìî ˜y

(C) ~›˜ ˜ëû öë £ëû ²Ì#!“þ xíîy “þyþ™¢ Šéye £öìî

(D) £ëû ²Ì#!“þ ˜y £ëû “þyþ™¢ Šéye £öìî
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25. DIMARIS is a valid mood in —

(A) First figure

(B) Second figure

(C) Third figure

(D) Fourth figure

25Ð DIMARIS ö„þy˜ ¢‚ßþiyöì̃ îû ÷î• ›)!“ÅþÚ

(A) ²Ìí› ¢‚ßþiy˜

(B) !m“þ#ëû ¢‚ßþiy˜

(C) “,þ“þ#ëû ¢‚ßþiy˜

(D) ‰þ“%þíÅ ¢‚ßþiy˜

26. The validity of deductive argument is determined by —

(A) its content

(B) its form

(C) both its form and content

(D) the truth of its conclusion

26Ð xîöìîûy£ ë%!_«îû ÷î•“þy !˜•Åy!îû“þ £ëû éôôôé

(A) ë%!_«îû vþzþ™y”yöì̃ îû ›y•Äöì›

(B) ë%!_«îû xy„þyîû myîûy

(C) xy„þyîû ç vþzþ™y”y˜ vþz¦þëû myîûy

(D) !¢kþyöìhsþîû ¢“þÄ“þy myîûy
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27. Human and non-human these two terms are —

(A) Complementary to each other

(B) Contrary to each other

(C) Not in any relation at all

(D) Identical terms

27Ð ›y %̃¡ì ~î‚ x›y %̃¡ìéôôôé~£z þ™” ”%£z!Ýþ éôôôé

(A) þ™!îûþ™)îû„þ þ™”

(B) !îþ™îû#“þ þ™”

(C) ~öì”îû ›öì•Ä ö„þyöì̃ y ¢Á™„Åþ ö˜£z

(D) “þy”ydÄ ¢Á™„Åþë%_«

28. If “All men are mortal” is true then what would be the truth value of ‘Some
men are mortal —

(A) True

(B) False

(C) Undetermined

(D) None

28Ð ë!” òò¢„þœ ›y %̃¡ì £ëû ›îû’Ÿ#œóó îy„þÄ!Ýþ ¢“þÄ £ëû “þy£öìœ òòö„þyöì˜y ö„þyöì̃ y ›y˜%¡ì £ëû
›îû’Ÿ#œóó îy„þÄ!Ýþîû ¢“þÄ›)œÄ !„þ £öìî éôôôé

(A) ¢“þÄ

(B) !›íÄy

(C) x!˜!Øþ“þ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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29. Every proposition is either true or false — this duality of proposition is called —

(A) Variable

(B) Truth value

(C) Truth function

(D) Constant

29Ð ¢î î‰þ˜£z £ëû ¢“þÄ xíîy !›íÄy £ëû éôôôé î‰þöì̃ îû ~£z •›Åöì„þ îöìœ éôôôé

(A) @ùÌy£„þ

(B) ¢“þÄ›)œÄ

(C) ¢“þÄyöìþ™Çþ

(D) •Ê&î„þ

30. What do you mean by the predicate of the conclusion —

(A) Major Term

(B) Middle Term

(C) Minor Term

(D) Negative Term

30Ð !¢kþyöìhsþîû !îöì•ëû þ™” îœöì“þ ö„þy˜ þ™”öì„þ öîyGþyëûÚ

(A) ¢y•Ä þ™”

(B) ö£“%þ þ™”

(C) þ™Çþ þ™”

(D) ˜~ŒíÅ„þ þ™”
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31. According to  society is a web of social relations.

(A) Cooley

(B) MacIver

(C) Parsons

(D) Leacock

31Ð ¢›y‹ £œ ¢y›y!‹„þ ¢Á™öì„Åþîû ‹Ýþy‹yœ  ö„þ îöìœöìŠé˜ éôôôé

(A) „%þ!œ

(B) ›Äy„þ xy£z¦þyîû

(C) þ™y¢Å̃ ¢

(D) !œ„þ„þ

32. Which of the following is not a characteristic of social group —

(A) Sense of unity

(B) We-feeling

(C) Common interest

(D) Common territory

32Ð ˜#öì‰þîû ö„þy ä̃!Ýþ ¢y›y!‹„þ ö†yÛþ#îû ÷î!ŸÜTÄ ˜ëûÚ

(A) ~„þydöìîy•

(B) xy›îûy öîy•

(C) ¢y•yîû’ ßþºyíÅ

(D) !˜!”ÅÜT ¦)þ…[þ
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33. The classification of group into primary and secondary has been done by —

(A) Cooley

(B) Tonnies

(C) Summer

(D) MacIver

33Ð ¢y›y!‹„þ ö†yÛþ#öì„þ ²Ìyí!›„þ ç ö†ï’ ~£z ”%£z ¦þyöì† ¦þy† „þöìîûöìŠé˜ éôôôé

(A) „%þ!œ

(B) Ýþ!˜¢

(C) ¢y›yîû

(D) ›Äy„þxy£z¦þyîû

34. Culture is usually assumed to be —

(A) Fixed and Static

(B) Always changing

(C) Mutually exclusive

(D) A subjective entity

34Ð ¢y•yîû’“þƒ ›öì̃  „þîûy £ëû ¢‚ßþ,ñ!“þ £œ éôôôé

(A) ßþiyëû# ç !˜Øþœ

(B) ¢”y þ™!îûî“Åþ˜Ÿ#œ

(C) þ™yîûßþ™!îû„þ ßþº“þsþf

(D) îÄ!_«!˜Ûþ !î¡ìëû
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35. To stand in a queue in a ticket counter of a station is a —

(A) gesture

(B) rule

(C) custom

(D) culture

35Ð öÞÝþŸöì̃ îû !Ýþ!„þÝþ „þyÝþyîû œy£zöì̃  ”¤yvþüyöì̃ y ~„þ!Ýþ éôôôé

(A) ¦þD#

(B) !˜ëû›

(C) ²Ìíy

(D) ¢‚ßþ,ñ!“þ

36. The phrase ‘Cultural lag’ was first coined by —

(A) MacIver

(B) Gisbert

(C) Tylor

(D) Ogburn

36Ð ¢‚ßþ,ñ!“þîû ›sþiîû†y!›“þy Ÿ·!Ýþîû ö„þ ²Ìî“Åþ˜ „þöìîû̃  éôôôé

(A) ›Äy„þ xy£z¦þyîû

(B) !†¢îyÝÅþ

(C) Ýþy£zœîû

(D) ç†îy˜Å
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37. In direct democracy who can take active part in the government —

(A) Elected representatives

(B) All people of the country

(C) Only educated people

(D) Only honest people

37Ð ²Ì“þÄÇþ †’“þöìsþf ö„þ ¢!e«ëû x‚Ÿ@ùÌ£’ „þöìîûÚ

(A) !˜îÅy!‰þ“þ ²Ì!“þ!˜!•îûy

(B) ö”öìŸîû ¢„þœ ›y %̃¡ì

(C) ö„þîœ›ye !Ÿ!Çþ“þ ›y %̃¡ì

(D) ö„þîœ›ye ¢ê ›y %̃¡ì

38. The word ‘Democracy’ comes from the word —

(A) Democracia

(B) Demokratia

(C) Demos

(D) Kratia

38Ð ˜#öì‰þîû ö„þy˜!Ýþ öíöì„þ †’“þsþf Ÿ·!Ýþ ~öì¢öìŠé éôôôé

(A) övþöì›yöìe«!Ÿëûy

(B) övþöì›yöìe«!Ýþëûy

(C) övþöì›y¢

(D) öe«!Ýþëûy
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39. Liberty and equality are —

(A) Complementary

(B) Contradictory

(C) Neither complementary nor contradictory

(D) None of the above

39Ð ßþºy•#˜“þy ç ¢y›Ä £œ éôôôé

(A) þ™!îûþ™)îû„þ

(B) !îþ™îû#“þ

(C) þ™!îûþ™)îû„þ ˜ëû– !îþ™îû#“þ ˜ëû

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

40. Specific guideline of behaviour in society is termed as —

(A) Custom

(B) Norm

(C) Law

(D) Tradition

40Ð ¢›yöì‹îû !˜!”ÅÜT xy‰þîû’!î!•öì„þ îöìœ éôôôé

(A) ²Ìíy

(B) !˜ëû›

(C) xy£z˜

(D) ¢yöìî!„þëûy˜y
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41. Who has coined the term ‘quasi group’?

(A) MacIver

(B) Gisbert

(C) Sorokin

(D) Ogburn

41Ð òxyþ™y“þ ö†yÛþ#ó Ÿ·!Ýþîû vþzqyî˜ „þöìîû̃  ö„þÚ

(A) ›Äy„þ xy£z¦þyîû

(B) !†¢îyÝÅþ

(C) ö¢yöìîûy!„þ˜

(D) ç†îy˜Å

42. Two premises yield no valid conclusion —

(A) Universal

(B) Particular

(C) Affirmative

(D) Categorical

42Ð ”%£z!Ýþ  xy×ëûîy„þÄ ö„þyöì̃ y !¢kþyhsþöì„þ !˜ƒ¢,“þ „þöìîû ˜yÐ

(A) ¢y›y˜Ä

(B) !îöìŸ¡ì

(C) ¢”íÅ„þ

(D) !˜îûöìþ™Çþ
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43. Of two sub-contraries if one is true the other is —

(A) True

(B) False

(C) Doubtful

(D) Neither True nor false

43Ð x•#˜ !îþ™îû#“þ !îöìîûy!•“þyîû öÇþöìe ~„þ!Ýþ î‰þ˜ ë!” ¢“þÄ £ëû “þy£öìœ x˜Ä!Ýþ £öìî éôôôé

(A) ¢“þÄ

(B) !›íÄy

(C) ¢‚Ÿëûyd„þ

(D) ¢“þÄ ˜ëû !›íÄyç ˜ëû

44. The verbal expression of a concept is called —

(A) Proposition

(B) Argument

(C) Judgement

(D) Term

44Ð ö„þyöì̃ y •yîû’yîû ö›ï!…„þ ²Ì„þyŸöì„þ îöìœ éôôôé

(A) î‰þ˜

(B) ë%!_«

(C) xî•yîû’

(D) þ™”
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45. In a disjunction even if one of the statements is false the whole disjunction
is —

(A) False

(B) Negated

(C) True

(D) Both True and False

45Ð ~„þ!Ýþ ÷î„þ!Ò„þ î‰þöì̃  ë!” ~„þ!Ýþ !î„þÒ !›íÄy £ëû “þy£öìœ ÷î„þ!Ò„þ î‰þ˜!Ýþ £öìî éôôôé

(A) !›íÄy

(B) ˜~ŒíÅ„þ

(C) ¢“þÄ

(D) ¢“þÄ ç !›íÄy vþz¦þëû£z

46. The reasoning that uses general principle to predict specific result is called —

(A) Inductive

(B) Deductive

(C) Both ‘A’ and ‘B’

(D) Hypothesis

46Ð ö„þyöì̃ y ²Ì„þyîû ë%!_« !îöìŸ¡ì !¢kþyöìhsþ vþzþ™˜#“þ £îyîû ‹˜Ä ¢y•yîû’ !˜ëû› ²Ìöìëûy† „þöìîû éôôôé

(A) xyöìîûy£

(B) xîöìîûy£

(C) (A) ~î‚ (B) vþz¦þëû£z

(D) ²Ì„þÒ



Page : 26 of 33

47. Which of the following propositions is tautology?

(A) (p q) q 

(B) p (q p) 

(C) p (p q) 

(D) Both ‘B’ and ‘C’

47Ð ˜#öì‰þîû î‰þ˜=!œîû ›öì•Ä ö„þy ä̃!Ýþ ßþº“þƒ¢“þÄÚ

(A) (p q) q 

(B) p (q p) 

(C) p (p q) 

(D) (B) ~î‚ (C) vþz¦þëû£z

48. The defining feature of a valid deduction is its —

(A) Vagueness

(B) Indefiniteness

(C) Certainty

(D) Narrowness

48Ð ÷î• xîöìîûy£ x %̃›yöì̃ îû ëíyëí ÷î!ŸÜTÄ £œéôôôé

(A) xßþ™ÜT“þy

(B) x!˜!”ÅÜT“þy

(C) !˜Øþëû“þy

(D) ¢‚„þ#’Å“þy
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49. The sum total of the objects to which the term can be applied is its —

(A) Connotation

(B) Denotation

(C) Meaning

(D) Function

49Ð „þ“þ=!œ !î¡ìöìëûîû ¢›!ÜTîû ²Ì!“þ ö„þy ä̃ Ÿ·!Ýþ ²Ìöìëûy†öìëy†Ä éôôôé

(A) Kþy“þÄyíÅ

(B) îÄ_«yíÅ

(C) xíÅ

(D) !e«ëûy

50. An inductive argument is intended to provide —

(A) Valid support for its conclusion

(B) Probable support for its conclusion

(C) Invalid support for its conclusion

(D) Probable support for its premises

50Ð ~„þ!Ýþ xyöìîûy£ ë%!_« !„þ ²Ì”y˜ „þîûöì“þ ‰þyëû éôôôé

(A) !¢kþyöìhsþîû ÷î•“þy

(B) !¢kþyöìhsþîû ¢½þyîÄ“þy

(C) !¢kþyöìhsþîû x÷ìî•“þy

(D) xy×ëûîy„þÄ=!œ ¢½þyîÄ“þy

—————
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P - II (1+1+1) G / 20 (N)

2020

PHILOSOPHY (General)
Paper Code : II - B

[New Syllabus]

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Section - I

Group - A

1. Answer any one from the following : 15×1=15

(a) Explain the nature of the category of Samanya as admitted by the
Vaisesikas. 15

(b) Distinguish between nirvikalpaka and savikalpaka pratyaksha. What are the
evidences in favour of nirvikalpaka pratyaksha? 10+5

(c) Discuss in brief Sankhya Parinamvada. 15

Group - B

2. Answer any one from the following : 15×1=15

(a) Test the validity of the following arguments by means of Venn diagram :
5+5+5

(i) AEE — 1

(ii) IAI — 4

(iii) Plato is a Greek. Plato is a Philosopher. Therefore some greeks are
Philosophers.

(b) What is square of opposition? Explain briefly the different types of
opposition. 5+10
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(c) Use truth table to determine the validity or invalidity of the following
arguments / argument form : 5+5+5

(i) P   Q

~ P / p q 

(ii) P (q.r)

(q r) p / p   

(iii) (R S) T 

T (R.S) / (R.S) (R S)   

Group - C

3. Answer any one from the following : 15×1=15

(a) What is meant by social group? Explain and illustrate different types of
group. 5+10

(b) ‘Society is the web of social relationship’— Explain the nature of society
in the light of this statement. 15

(c) Explain the nature of class attitude and class consciousness. 15

Section - II

Answer eleven questions of 5 marks taking not more than four from each
group. 5×11=55

Group - A

4. (a) Explain Sama-Vyapti and Visama-Vyapti.

(b) Distinguish between Samyoga and Samavaya.

(c) Explain the nature of Alaukika pratyaksha.

(d) Explain the nature of Sattva guna and Raja guna according to Samkhya.

(e) What is Laukika Sannikarsa?
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(f) Explain the different types of Abava according to Vaisesika.

(g) Discuss the definition of inference according to Nyaya.

(h) Define Padartha after the Vaisesika. How many padarthas are admitted in
the Vaisesika system?

Group - B

5. (a) What is Fallacy of Illicit Major?

(b) What is hypothetical syllogism? Explain.

(c) Discuss the difference between Mediate and Immediate inference with
example.

(d) What is figure of syllogism and mood of syllogism?

(e) What are the rules of obversion?

(f) Is it possible to convert A proposition?

(g) What is analogical argument? Explain with example.

(h) What is truth function. Discuss the difference between truth-functional
statement and truth-functional argument.

Group - C

6. (a) We belong to associations, but not institutions — Explain.

(b) Is prison an association or a community?

(c) What is primary group and secondary group?

(d) What is social class?

(e) What is mobility and immobility of a class?

(f) What is direct democracy?

(g) Explain Gandhiji’s concept of ‘Sarvodaya’.

(h) What is ‘trusteeship’?
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îDy %̃îy”
x•Äyëû éôé 1

!î¦þy† éôé „þ

1Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû !”öì“þ £öìî ­ 15×1=15

S„þV ÷îöìŸ!¡ì„þ ”ŸÅöì̃  ¢y›y˜Ä þ™”yíÅ!Ýþ ¢!î‰þyîû xyöìœy‰þ˜y „þîûÐ 15

S…V ¢!î„þÒ„þ ç !˜!îÅ„þÒ„þ ²Ì“þÄÇþ „þyöì„þ îöìœÚ !˜!îÅ„þÒ„þ ²Ì“þÄÇþ ßþº#„þyöìîûîû ë%!_« !„þÚ
10+5

S†V ¢y‚…Ä ”ŸÅöì̃  ²Ì„,þ!“þ þ™!îû’y›îy” !îŸöì” xyöìœy‰þ˜y „þîûÐ 15

!î¦þy† éôé …

2Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû !”öì“þ £öìî ­ 15×1=15

S„þV ö¦þ˜!‰þöìeîû ¢y£yöìëÄ ÷î•“þy/x÷ìî•“þy !î‰þyîû „þîû ­ 5+5+5

(i) AEE — 1

(ii) IAI — 4

(iii) ö²ÕöìÝþy £˜ ~„þ‹˜ @ùÌ#„þÐ ö²ÕöìÝþy £˜ ~„þ‹˜ ”yŸÅ!˜„þÐ ¢%“þîûy‚ ö„þyöì̃ y ö„þyöì̃ y
@ùÌ#„þ £˜ ”yŸÅ!˜„þÐ

S…V î‰þöì̃ îû !îöìîûy!•“þy „þyöì„þ îöìœÚ vþz”y£îû’¢£ !î!¦þ§¬ ²Ì„þyîû !îöìîûy!•“þyîû îÄy…Äy „þîûÐ
5+10

S†V ˜#öì‰þîû ë%!_«=!œîû ¢“þÄ¢yîû’#îû ¢y£yöìëÄ ÷î•“þy/x÷ìî•“þy !î‰þyîû „þîû ­ 5+5+5

(i) P   Q

~ P / p q 

(ii) P (q.r)

(q r) p / p   

(iii) (R S) T 

T (R.S) / (R.S) (R S)   
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!î¦þy† éôé †

3Ð öë ö„þyöì̃ y ~„þ!Ýþî û vþz_îû ”yç ­ 15×1=15

S„þV ö†yÛþ# „þyöì„þ îöìœÚ !î!¦þ§¬ ²Ì„þyîû ö†yÛþ#îû îÄy…Äy ç xyöìœy‰þ˜y „þîûÐ 5+10=15

S…V ò¢›y‹ £öìFŠé ¢y›y!‹„þ ¢Á™öì„Åþîû ‹Ýþy‹yœóéôôôé~£z !îî,!“þîû xyöìœyöì„þ ¢›yöì‹îû ßþºîû*þ™
îÄy…Äy „þîûÐ 15

S†V ö×’# ›öì̃ y¦þyî ç ö×’# ö‰þ“þ˜yîû ßþºîû*þ™ îÄy…Äy „þîûÐ 15

x•Äyëû éôé 2

~†yöìîûy!Ýþ þ™¤y‰þ ˜Áºöìîûîû ²ÌöìÙÀîû vþz_îû !”öì“þ £öìî !„þlsþ ö„þyöì̃ y !î¦þy† öíöì„þ ‰þyîû!Ýþîû
öî!Ÿ vþz_îû ö”çëûy ëyöìî ˜yÐ 5×11=55

!î¦þy† éôé „þ

4Ð S„þV ¢›îÄy!® ç !î¡ì›îÄy!® ¢Á™öì„Åþ ëy ‹y˜ öœ…Ð

S…V ¢‚öìëy† ç ¢›îyöìëûîû ›öì•Ä þ™yíÅ„þÄ öœ…Ð

S†V xöìœï!„þ„þ ²Ì“þÄÇþ „þyöì„þ îöìœÚ

S‡V ¢y‚…Ä ”ŸÅöì̃  ¢_=́’ ç îû‹=’ !„þÚ

SˆV öœï!„þ„þ ¢!§¬„þ¡ìÅ „þyöì„þ îöìœÚ

S‰þV !î!¦þ§¬ ²Ì„þyîû x¦þyî !î¡ìöìëû ëy ‹y˜ öœ…Ð

SŠéV ˜Äyëû›öì“þ x %̃›yöì̃ îû ¢‚Kþy !˜îû*þ™’ „þîûÐ

S‹V ÷îöìŸ!¡ì„þ ”ŸÅöì̃  þ™”yíÅ „þyöì„þ îöìœÚ ÷îöìŸ!¡ì„þ ›“þ x %̃¢yöìîû þ™”yíÅ „þëû ²Ì„þyîû ç
!„þ !„þÚ

!î¦þy† éôé …

5Ð S„þV x÷ìî• ¢y•Ä ö”y¡ì xyöìœy‰þ˜y „þîûÐ

S…V ²Ìy„þ!Ò„þ ˜Äyëû îœöì“þ !„þ öîyGþyëûÚ îÄy…Äy „þîûÐ

S†V vþz”y£îû’¢£ ›y•Ä› ç x›y•Ä› x %̃›yöì̃ îû þ™yíÅ„þÄ xyöìœy‰þ˜y „þîûÐ

S‡V ¢‚ßþiy˜ ç ›)!“Åþ „þyöì„þ îöìœÚ
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SˆV !îî“Åþöì̃ îû !˜ëû›=!œ xyöìœy‰þ˜y „þîûÐ

S‰þV A î‰þöì̃ îû ¢îûœ xyî“Åþ˜ !„þ ¢½þîÚ

SŠéV ¢y”,ŸÄ›)œ„þ x %̃›y˜ vþz”y£îû’¢£ xyöìœy‰þ˜y „þîûÐ

S‹V ¢“þÄyöìþ™Çþ „þyöì„þ îöìœÚ ¢“þÄyöìþ™Çþ î‰þ˜ ç ¢“þÄyöìþ™Çþ ë%!_«îû þ™yíÅ„þÄ xyöìœy‰þ˜y
„þîûÐ

!î¦þy† éôé †

6Ð S„þV òxy›îûy ¢‚öì‡îû ¢”¢Ä !„þlsþ ²Ì!“þÛþyöì̃ îû ¢”¢Ä ˜£zó éôôôé îÄy…Äy „þîûÐ

S…V „þyîûy†yîû !„þ ¢!›!“þ ˜y ¢Á±”yëûÚ

S†V ²Ìyí!›„þ ö†yÛþ# ç ›y•Ä!›„þ ö†yÛþ# „þyöì„þ îöìœÚ

S‡V ¢y›y!‹„þ ö×’# „þyöì„þ îöìœÚ

SˆV ö×’# ¢‰þœ“þy ç ö×’# !˜Øþœ“þy „þyöì„þ îöìœÚ

S‰þV ²Ì“þÄÇþ †’“þy!sþf„þ Ÿy¢˜îÄîßþiy „þyöì„þ îöìœÚ

SŠéV †yõþ#!‹îû ¢öìîÅy”ëû ²Ì“þÄëû!Ýþ îÄy…Äy „þîûÐ

S‹V x!Šé“þsþf „þ#Ú

———————


